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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

I Answers are to be bubbled only on the separate OMR answer sheet provided to
you. After examination detach the carbonless copy from original OMR & keep

carbonless copy with you till the declaration of result.

2. Please write your Center Code & Seat No. very clearly (only one digit in one block)
on question paper. Before writing your seat no. ascertain it with Hall ticket. Please

see that no block is left blank or unfilled.

Example :
CENTRE CODE 11110]2
SEAT NO. MI3]3]9[2]1]1[1]0]2]1f2]3

3. Please ensure that you have received Mental Ability Test answer sheet.

4.  Total number of questions are 90 for this paper. All questions carry one mark each.

5. All questions are compulsory.

6. For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet

by Black/Blue pen. Please do not write any answers on question paper.

7. Start answering from first question one after the other till last question.

8. If you do not know the answer to any question, do not spend much time on it and
pass on to the next one. Time permitting you can come back to the questions which

you have left in the first instance and try them again.

9.  Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

10. Do not write anything except Center Code, Seat No. and rough work anywhere in
this booklet. |
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1. AYC:MOK ::DVF: ?

(1) siQ (2) RIP (3) LPJ
2. AYBZ:MOLN::EUFV: ?
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3. DWVU:JQRS::BYXW:?

(1) KPQR (2) JQRS (3) LOPQ () IRSP
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Q.1t03

Direction : In each of the following questions there is a specific relation between the first and

second term. The same relationship exists between the third and the fourth term which will replace
the question mark. Seleci the correct alternative.

1. AYC:MOK ::DVF:?

() SIQ - (2) RIJP (3) LPJ (4) JRH
2 AYBZ :MOLN::EUFV:?

(1) ISHR (2) JRIQ (3) HRIS (4) FTGU
3. DWVU:JQRS::BYXW:?

(1) KPQR (2) JQRS (3) LOPQ (4) IRSP
Q.4t06

Direction : In each of the following questions the question figures change in a sequence. Find out
the correct figure from the alternative figures that replaces the question mark.

4. Question figuies
Answer figures
(1) ) @ @

Space for Rough Work
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5. Question figures

d!

Answer figures

(1)

6. Question figures

>
’
)1
©

Answer figures

(1

il
Al
&[] ?
Kali

~ Space for Rough Work
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w799

AU 2 [QA2A Y )

7. (1) 101 (2) 416 (3) 208 (4) 327

1] 13 3 59
8. (1) 135 (2) 15_6_ (3) SE 4) ° 35
% () 425 (2) 325 (3) 225 (4) 825
W 10 ol 12

PAU : {lAAL naQM 280 s AR A LWL B, o A WA GHAUAL A12Y YUy 0EL,

10. AZCX, BYDW, GTIR, JQLO

(1) CXFU (2) DWSH (3) EVGT (4) HSOL
11. BDH, .FLX, EJT

(1) CLL (2) DHP 3) Y (4) HPX
12. BDG, EJP, HPY

(1) DHN (2) CFH (3) CFJ | (4) DHK

S5 s s R
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Q.7t09

Direction : Find the odd term.

7. (1) 101 (2) 416 (3) 208 (4) 327

8. (1) E (2) 13 (3) 5> (4) 52
25 36 16 25

9. (1) 425 (2) 325 (3) 225 (4) 825

Q.10t0 12

Direction : In the following questions a specific group of terms is given. From the given

alternatives, find out the correct term that matches the given group.

10.  AZCX, BYDW, GTIR, JQLO

(1) CXFU (2) DWSH (3) EVGT (4) HSOL
11.  BDH, FLX, EJT

(1) CIL (2) DHP (3) JIIY (4) HPX
12.  BDG EJP, HPY

(1) DHN (2) CFH (3) CFJ (4) DHK

Space for Rough Work
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13. 59 ™A oL Wewdla) 33 £ ?
(1) sodl (2) vl
(3) olslieq (4) geold

14. SOEL UL Nt ol suy ?

(1) 29y, wda (2) 4, R

3) R-u, Gw (4) 2w, G
15. 59U WAL $5d QL HA RN D ?

(1) e (2) »1%4

3) R-u 4) Gw
w16 4l 18

YAt Al AL oML siAAL A €l A usla wulyHidl kL.

16.
<A 5=
(1) 2 &) 4)
g5 s1Ul st W12 N
B
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Q.13 to 15

Direction : Ajay, Mahesh, Reena and Uma are players. Mahesh and Uma do not play kabaddi. Ajay
plays all the games except football. Uma and Reena do not play kho-kho. Answer the following

questioné by choosing the correct alternative.

13. Which game do all the players play?
(1) Kabaddi (2) Kho-Kho
(3) Badminton (4) Football

14. Who plays Kabaddi?
(1) Ajay, Mahesh (2) Ajay, Reena
(3) Reena, Uma (4) Ajay,Uma

15. Which player plays only two games?

(1) Mahesh (2) Ajay
(3) Reena } | (4) Uma
Q.16to 18

Direction : Find the odd figure.

16. . I:s.g::f> . <;:==<::

(1) (2) (3) 4

Space for Rough Work
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17.

(1) ©) 3) @
18. _
e (1 Tal||leL || 2
n () (3) 4)
A 19 9l 21

YA : [AA3d Ye ).

19. (1) THR (2) YDW (3) QKO (4) VFT
20. (1) JE (2) FC (3) NG (4) VL
21. (1) P-4 2) F-3 (3) D=2 (4) Y-5

22. gl s Al3[As eurdl SPOT =210, BEAT = 84 214 @vy ¢y dl PLAY = ?

(1) 181 (2) 162 (3) 148 (4) 109

S5 st sid w12
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17.

(1) (2) 3) 4)
18.
o [E ’ —
(1) (2) 3) (4)
Q.19 to 21

Direction : Find the odd term.

19. (1) THR (2) YDW (3) QKO . (4) VFT
20 (1) JE " (2) FC (3) NG (4) VL
21. (1) P-4 (2) F-3 (3) D-2 4) Y-5

22. In a certain code language if SPOT = 210, BEAT = 84, then in the same code language
PLAY =7

(1) 181 (2) 162 (3) 148 4) 109

Space for Rough Work

13 of 48
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23,

N . . H = ?
s ABRS CuM R EAST = 9 il Ao b5 ol NORT

4) 12
(.18 ) 16 (3) 14 )
' i FUND
4. 215 RS ouuM R ARMY o6, EUOZ 91 evlll ) A2y 3RS UM UK 3q)
Ad awa) ?
WQH
(1) JPXE (2) JXPE (3) JXEP (4) JWQ
28 ¥s AR e A ABOVE ase, ZYLEV 3 vllal dl A2 Ui3R5 CUMML RIGHT Ao,
5l Aa quig) ?
(1) IRSTJ (2) QRSTU (3) JSUTH (4) IRTSG
M. 26 \ 28

AU Wdell vugRAL ol gl WA el Aol B Ao el e v Al 204l 8. o)
A W WarARnse]l opor ) oy yufy quil,

26.  uad e
S\ : /2 22
GrR 24l
(1) (2) (3) 4)
g5l 5130 s W12
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23.

In a certain code language if EAST = 9, then in the same code language NORTH =?

(1 18 (2) 16 (3) 14 (4) 12

24. In a certain code language if ARMY = EUOZ, then in the same code language FUND =?
(1) JPXE (2) JXPE (3) JXEP (4) JWQH

28. In a certain code language if ABOVE = ZYLEV, then in the same code language
RIGHT =7
(1) IRSTJ (2) QRSTU (3) JSUTH (4) IRTSG

Q. 26 to 28

Direction : In the following questions there is a specific relation between first and second figures.

The same relationship exists between the third and the fourth figures which will replace the question

mark. Select the correct figure from the alternatives given below each question.

26.

Question figures
S\ : /2 - “5/— B ?
Answer figures

NN

(1) (2) 3) “4)

Space for Rough Work
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27. U ) {[Hb&

/_\ /—\ l ] ?
i Endtt Y
‘\/ ~No_
G gl
NS
—
(\‘~s;. "—— <:;
M @ ® @
28. YRe| Q,u{[abﬂ '
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27.

28.

Question figures

it l | ?
"—| '
Answer figures
NI
——
WD)
(1) ) A3) 4)
Question figures
M: o8 @: ?
Answer figures

v

P>

.

(1)

)

“)

Space for Rough Work
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W 29 ¥ 31

3 L vl
QR £ A Ha el vt il cotg sasll 54 9. & HIASLU HUETH vy

L s Ay sl As vyl vt B, dl wiys vl Aav.

29. ba—Cb—b—bab_

(1) bebe (2) baac
30. -a-b-abaa-bab-a

(1) babba (2) babab
31. 1-1001- -00-010-

(1) 01100 (2) 00110
w324 34

(3) baca

(3) baabb

(3) 00101

(4) bacc

(4) babaa

(4) 01010

QA = AL M et [ 3 S2ers 906) 0w © 21 e 113 At A3 2is 20 8., ol q
AAM T AL UoeLAL AL 53 WD ¢ % A Y], o ARs et W AAL Ul Ger Yoy

wy il @u).

A 1 AL
RULE 4568
AREA 8411
TOUR 5298
TALK 3612
g5 sl 51 w12
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Q.29 to 31

Direction : A rhythmic arrangement of letters is given. The missing letter or number appears in the
same order in one of the alternative answers. Find the correct alternative.

29. ba—cb-b-bab-—

(1) bebe (2) baac (3) baca (4) bacc
30. -a-b-abaa-bab-3

(1) babba (2) babab (3) baabb (4) babaa
3. 1-1001- -00-010-

(1) 01100 (2) 00110 (3) 00101 ~(4) 01010
Q.32t0 34
Direction : In the following question there is a relation between column I and column I1 in a code

language. The expressions in column I1 are not arranged in the same order as letters in column I. By
using the code language find the correct alternative.

Column I Column II
RULE 4568
AREA 8411
TOUR 5298
TALK 3612
Space for Rough Work

NMMS-MAT-20 (VIIT |M 19 of 48




32. ULTRA=?

(1) 56182 ) 56128 (3) 56281 (4) 6218
33. EURO=?

(1) 5874 (2) 4580 (3) 8954 (4) 7652
34. TALUKA=?

(1) 216135 (2) 216153

(3) 265113 (4) 216531
35. 1974 -l 4R oAl Jeens) 2ol ol ?

(1) 264\ 2) 274

(3) 284l (4) 29
36, AU Ut Mgl A G AR wullnidl 56 2ugRi il § anl Ao wuly

2L

U wugld CAERYIEIRER]

o) | H | &
(1) ) 3 4
§50 sl 51 Wi
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32.

33.

34.

3s.

36.

ULTRA=?

(1) 56182 (2) 56128 (3) 56281 (4) 56218
EURO=?

(1) 5874 (2) 4580 (3) 8954 (4) 7652
TALUKA=?

(1) 216135 (2) 216153

(3) 265113 (4) 216531

In 1974, India celebrated which year of independence?
(1) 26th (2) 27th
(3) 28th (4) 29th

Direction : Question figure is hidden in one of the alternative figures given in ‘Answer
figures’. Select the correct alternative figure.

Question figure Answer figures
) K
(1) 2 3 (4
Space for Rough Work
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. 37 4 39
QAL AL WEAML M AUANR 585 vy vad A WM wu (il 20kl

37. 0.5, 2,45, 9, 16.5, ?

(1) 19.5 (2) 21 (3) 24.5 @ 28
38. 13,17, 25, 32, 37, 47, 58, 7

(1) 60 (2) 68 (3) 71 @) 8
39. 28, 33, 31, 36, 2, 39

1) 32 2) 34 (3) 38 4) 40

. 40 A 41

YA 2 SR A sl get vt 8. Anewl sil g vt 30 B. ol AAw uedlowL Griz el

40. s 1R 2 AlusAl vy el & ?

(1) 6,2 2) 7,1 3) 5,3 (4) 4,4
41. 513 2 A sl Avaidl deusir dedl ?
(1) 7 2) 15 -~ (3) 16 (4) 12

42. 1 &l 6 21 i85l 53] 530 sMdl @ullad dl 14 1L $MI13 54 28 21199 ?
(1) 2 (2) 3 3) 4 - 4) 5

43.  Aldl ol st 8 [Raul Al . Aldidl »=1 7 1A 2000 Hi 24l Sid dl Al ¥4
POTERI I

(1) 1w (2) 27 39l (3) 2839wl (4) 29 3gaudl

&5 S1A 51 12
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Q.37t0 39

Direction : Which number wi]] replace the question mark in the given series? Find the correct

alternative.
37.  05,2,45,9 165, 9

(1) 195 (2) 21 (3) 245 (4) 28
38. 13,17, 25, 32, 37, 47, 58, 2

(1) 60 (2) 68 (3) 71 (4) 85
39. 28,33, 31, 36, 2, 39

(1) 32 (2) 34 (3) 38 (4) 40
Q.40 and 41

Direction : Total number of cars and bicycles is 8. The total number of their wheels is 30. Answer

the following questions.

40.

41.

42.

43.

Write the number of cars and bicycles in sequence.

(1) 6,2 (2) 7,1 () 5,3 4) 4,4
What is the product of the number of cars and bicycles?
(1 7 (2) 15 (3) 16 4) 12

If the numbers 1 to 6 are written repeatedly in the serial order, then which number will
occur at 14th place?

(1) 2 2 3 (3) 4 4 5

Seeta is younger than Geeta by 8 days. Seeta was born on 7th March 2000. When was Geeta
born?

(1) 1"March  (2) 27"February (3) 28"February (4) 29™February

Space for Rough Work
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W 44 4] 46

3 21 WAL Y UR A 3
YA 1 €25 v1og 4 Mgl Slu Al “:1 3o, A uel Arll A5 Aguy

A A {q dl, qedl 203 o 2L "
MRl e s wusRe Fdae 599 3 el ek @il

M. Beat el Aol el Ny 9 6l ?

(1) 8

@4 @ s @ o

45, OLys YR WAL 30 Gy da uet Joey ?

(1) 8 (2) 4
(3) 2 4) 0
46.  H-rti Ayl ay Jeal y¥) 3o ¢ ?
(1) 1 2) 2
G) 3 4) 4
47. s s et Al As A wnid Aeill Brudl w2 25 Rendlx Glew s3120 dl Heinid
YRMAQ dedl s ?
(1) 23 2) 24
(3) 25 (4) 26
g5 1AL st e
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0.44(046

Direction : A cube having each side 4 units is painted Red, Blue and
Yellow in such a way that opposite sides have same colour. Then it is cut
into small cubes having side 1 unit. Answer the following questions.

44.  How many cubes have at least one side painted?
(1 8 (2) 24 (3) 56 (4) 64
45.  How many cubes have same colour on two faces?
(1) 8 (2) 4
3) 2 4 0
46.  Find the maximum number of faces of a cube that may have been painted.
(1 (2) 2
@3 3 (4) 4
47. 25 students are standing on the border of the ground at a distance of | m from each other.
Find the perimeter of the ground.
(1 23 (2) 24
(3) 25 4) 26
Space for Rough Work
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u. 48 4| 50

gt s AL w2l s Rfe whe wddl . widar waldyiel 21s wali d s

ot Bl 6. o WA q1oy vuly quy) .

48. 156, 182, 72, 90
(1) 241

49. 135, 433, 563, 489

(1) 257

50. 728, 63, 215, 511
(1) 997

. 514 53

(3) 220

(3) 429

(3) 342

130

4) 793

(4) 347

Yt : {12 wan 28 dlsaslld e sA Al DA usdlel Gl 2uden vl

4.

$5d 510 51 12
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e

Q W 0

witon @ lnthe o N . 'y . . .
fud outthe correctterm that matehes the given proup

4N, 180, IN), ")oW

(241 (M 110 (3) 220 (4) 130
0, 135, 433, Sod, 480

(1 287 PARRPE: () 429 (4) 793
80, I8, 03, 218, 511

(1) 997 (2) 80 (3) M2 (4) 347

Q. St 8y

Direction : Observe the tollowing pyramid of letters and answer the questions that follow :

nxw\'ulﬁl'q

Space for Rough Work
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51. abx, cdi, efp, ?
(1) vau (2) ghs (3) ggs (4) hi
52.  bxywz:prdsc::?:nemfl

(1) defph (2) dejpk (3) dizhh (4) dijhk

53.  deji:nmme:: cdiy:?

(1) oned (2) xywz (3) uagh (4) onme
u. 54 4\ 56 |
QAL 2 oogel] At 2R Agslami 2l W & durll vy,
N

= Bustami awil suasdl el;t QL v, LR adul Agd 2iadg
\ €l dull Avay ealdl 8. dl AL usAleAl Gl vuldmie]l sl
2912 32 \

64

54, dgd A 2w [Braga + viasg Slu Al vy Jed) ?

(1) 30 2) 62 3) 87 4) 72
55, %5d 2w A Aquiell A1sg €l Al set] 850 gl A1 vl iasd DU ey disitl
Avyl Jeaiel 2l & ? |
(1) 45 (2) 20 (3 5 4) 3

56.  sluRL vlsoy oL A} © Al gt Jeal B ?

(1) 81 (2) 94 3) 11 4 126

S5c S s w2
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51, abx, cdi, efp, ?
(1) vau
(2) ghs (3) gas (4) hij
52. bxywz : prdsc :: ? : nemfl
| .
(1) defph (2) dejpk (3) dizhh 4) dijhk
53. deji : nmme :: cdiy : ?
(1) oned (2) xywz (3) uagh (4) onme
Q. 54 to 56
% Dlrectlon In the adjacent Venn diagram, rectangle represents the
7 persons who are good in Enghsh The triangle represents the persons
. who are good in Japanese language and the circle represents the persons
291> 32\ who are good in Sanskrit. Choose the correct alternative to answer
the questions that follow.
64
54. How many persons are not knowing Sanskrit and English?
(1) 30 (2) 62 (3) 87 4 72
5S. By how much is the number of persons knowing Sanskrit and English is less than the number
of persons knowing English and Japanese?
(1) 45 - (2) 20 3) 5 4) 3
56. How many persons are knowing only one language?
1) 81 (2) 94 3) 111 (4) 126
Space for Rough Work
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U. 57 4 58

YA oogl AL 2uslag Mllere sAN DA wse 13 oy e DAL
57. Al ga v ded) ?

(1) 18 ) 30
3) 32 (4) 60
58. ARt €lu Al dolue] 1wy Yod) ?
(1) 64 ) 70
(3) 100 (4) 102

. 59 ¥4 60

A A 2l Y] 2o 2pareyH) ::u{[aa»&g Rﬂ&t@t 311-1 a-l '{lil UL HoeAleL Lol

el yuldluidl g, =
A7 L/ 4
59. %t Y1 uR €y dl Guretl YUl uR sdl aR vudd ?

(1) A (2) B (3) E 4) F
60. B+l usul 4l 28R Al 2 ?

(1 A 2) C (3) F (4) E
61. At 1992 «{l il el [Bad yoaR sel. dl dos a¥f 28 3gaudlal 54l AR gdl ?
(1) AHAR (2) 2ARAR (3) Ysar 4) wRar
§5d 514l 51 M2

NMMS-MAT-20 [VIII |M | 300f48 |




Q.57and 58

pirection : Observe the given figure and choose the correct alternative to answer the questions that

follow.
57.  Find the total number of squares in the figure.
(1) 18 (2) 30
(3) 32 (4) 60
58.  Find the total number of rectangles that are not squares.
(1) 64 (2) 70
(3) 100 4) 102
Q.59 and 60

Direction : Three positions of a cube are given below. Observe the figure and answer the questions
by choosing correct alternative. '

59.

60.

61.

F /C/

A

sl | D |E

If letter C is at the bottom, then which letter will be at the top?

M A (2) B (3) E 4) F

Which letter will not be adjacent to B?

(1 A 2 C (3) F (4) E

In 1992, ‘Gandhi Jayanti’ was on Friday, then in the same year which day will occur on 28th
. February?

(1) Mondsy  (2) Thusday  (3) Friday (4) Saturday

Space for Rough Work
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u. 62 4l 64 |
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3. ad [ =

Y- ¢ ol wuddl sig-Al ol afl 2% del dul WA E
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62. E -l ud 54l 2182 »adl ? A
(1) B @) A 3) D SO Bl¢C
63.  C -l ouapi sdl 28R 2udd <l ?
(1) A 2) F 3) D @ E

Quiz wdal gl 21lod ugl 56 7

“‘@

u. 65 467

Tk I (DN TRAE
Avul 8. A Aoiy vl uR-s
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65. 16:63::7:35

(1) 10 () 11 (3) 12 (4) 14
66. 343:100::216:7 |
(1) 144 (2) 122 (3) 90 (4) 84
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Q. 62 to 64

pirection : The adjacent figure is folded to form a cube. Observe the figure and

" answer the questions that follow. F|E
62. Which letter will occur opposite to E? E
() B 2) A @D 4) C Slo
63.  Which letter will not be adjacent to C?
() A (2) F 3) D 4) E

64. Of the following cube figures find the non-relevant figure.

TXT:

Q. 65 to 67

Direction : In the following questions there is a specific relation between the first and second
terms. The same relationship exists between third and fourth terms, which will replace the question

mark. Select the correct alternative from the given alternatives.

65. 16 : 63 ::7?7:35

(1) 10 2 1 (3) 12 4) 14
66. 343 : 100 : : 216 : ?
(1) 144 (2) 122 (3) 90 (4) 84
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67. 306:17::552:7

(1) 21 (2) 22 (3) 23 (4) 24
68. (1AL naul uaAR&A] ouR 1oy yyly @,
23119 1 (1) 20 (2) 25
171 2 | 35
‘ 4) 27
31|29 | 13 (3) 24 )

69. W&l @yl Yoy yuly qu).

121 | 52 | 225 (1) 84 2) 73
256 | 60 | 196
4) 58
289 ? | 144 () 62 )
70. 2015 Hi yular@l R gsaR gdl. d ula a¥ stolas g (B saL R edl ?
(1) HamarR (2) xR (3) ARAR (4) YsUR
w714 73

g DA 2uglani 2udell v 2s QRre Fa . d Adavld usfadl gous doy
waly qull, |

W EOWE \
NERNEANC .
(1) 20 2) 22 (3) 24 4) 26
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67. 306 : 17 : : 552 : 9
(1) 21 (2) 22 (3) 23 (4) 24
68.  Inthe following question which alternative will replace the question mark?
B (1) 20 (2) 25
17 72 | 35
311291 13 3) 24 (4) 27
69.  Inthe following question which alternative will replace the question mark?
256 | 60 | 196
289 | 7 | 144 | (3) 62 (4) 58
70. In2015 ‘Environmént Day’ was on ‘Friday. Then in the next consecutive year, on which day
‘World AIDS Day’ occurred?
(1) Tuesday (2) Wednesday (3) Thursday (4) Friday
Q.71to 73

Direction : In the following figures numbers are written with a specific rule. According to that rule

which alternative will replace the question mark?

(1) 20 (2) 22 (3) 24 4) 26
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72. 12 28

14
(1) 198
12 15
73. 75
16 14
(1) 46
u. 74 4\ 77

21

11

11 12

(2) 272 (3) 328
3 1 8

25 ?
8 10 12

(2) 56 (3) 65

36

3?::::50

(4) 415

(4) 78

QAL T B AiBcls oAl KRISHNA 26t iR 26l 2l o evell 8. A AidRs et 2ol
QAL AL vl 268 55 ABRS cunnl vl B A dlou wafuisdl Wkl

KRISHNA

74. WATER
75. RIVER
76. RESCUE

77. RAJPUR

Il

(1) MTKUJPC
(2) KIHARSN
(3) JQHRGMZ
(4) PIRHSMZ
YCVGT

IREVI
RSUECE

IZQKFI

§5d s1AL 1 MR
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12 28

72.

14
(1) 198
1215
75
16 14

73.

(1) 46

Q.74 to 77

Direction : In a code language the word ‘KRISHNA’ is written in four different languages. Identify

the code language given below and select the correct alternative.

KRISHNA
74.  WATER
75.  RIVER
76.  RESCUE
77. RAJPUR

21

6 34 : 20

11 12

@ 27 3) 328
20 31 8

25 ?
11 8 10 12

(2) 56 (3) 65

= (1) MTKUIPC
(2) KIHARSN
(3) JQHRGMZ
(4) PIRHSMZ

YCVGT

- IREVI
RSUECE
IZQKFI

I

(4) 415

‘4) 78

__
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M. 78 4\ 80

AU At WA Hai yarPa ) ogours) sHIIR 53 U Ml A el

78. DGM, GKR, JOW, MsB, 7
(1) RXF (2) PWF
(3) owg (4) PWG

79. RLA, PNB, NPC, 9

(1) JSF () HSF

(3) LRD | (4) MRD
80..  NMS, QKP, TIM, WGy, 7

(1) ZEG (2) ZSK
(3) AEG (4) ZGE

81. MRAL Yo s 4lg A Gl B, 3 wuel 541 qlisn, N z»tgz& dl dg Hig Wy qzs
2199 ?

(1) swellon, uaﬂowg, stoflonsy, anellousy

L
(2) sioflousy, ey, siellousy, ez
(3)  wuellonsy, sieflouy, swolloys, ue(lony
(4)  wHelleny, wmelouy, soflousy, CETITEY
85e 13 51 > — |
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Q.78to 80

pirection : Which number will replace the question mark in the given series?

78. DGM, GKR, JOW, MSB, ?

(1) RXF (2) PWF

(3) OWG (4) PWG
79.  RLA, PNB, NPC, ?

(1) ISF (2) HSF

(3) LRD (4) MRD
80.  NMS, QKP, TIM, WGJ, ?

(I) ZEG (2) ZSK

(3) AEG (4) ZGE

81. Bharati is facing East. How she should take turns in sequence given below so that she will
face west at the end?

®(1) left, left, left, right
(2) left, right, left, right
(3) right, left, left, right

(4) right, right, left, right
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82. kx'ibll.il?ll’{\l
e
K \ i
i
Grixaugldail
o 0 0 ~.0]
\‘\ A \ h
N BN o o~
(1) (2) (3) “4)
83.  uavuglaail
v / KV
- A F_:\ 5 o
X :
A EERIEINER]
TjO q <;q q OOO q Voo q
O Yo I ©
D D [o) D 0o D o) Pa)
(1) €)) ©) (@)
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Q.82 and 83

Dil'ecﬁ"“' : A sheet o.f Rapsr is folded on the dotted lines as per the arrows shown in the question
figur es: Figures are g w"en In proper sequence. A fter folding the paper, it is cut at specific places as
shown in the figures. Find out how will the paper look like when unfolded.

g2.  Question figures

N
Answer figures
v Ol | O 5 <0
o o
AN o o\& R
0 2) 3 @)

83.  Question figures

, jvd 6 <
)Z A)/ ®

Answer figures

O < oqu SCRY %oq

(o]
(@) (@)
%9 1>1§] b 99| ([ Ca

b |
(1 2) 3) (4)
[ Space for Rough Work
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w2 Ol &, v e slan qes 3y, oy,

84.  yau:us A4 6
VA 2 Ut yglan A5 wiredls 501 o 3 lstiell 0.

U2 vyl oo g s
X @’
: “5...:.5 | (25..----’ —ay @

85, AU el 2usRA yel s2a Wi dlow wuld 04

Ut B[R Gt 2iglAil

SISV
0 ) 3) 4

4. 86 ¥ 87

QAU U gl well-u ywewot Gy Gledl sct dd welii ulalbier 3q euiual d waluid
2llHl.

86. M2t sl GuR 2uglail

& AR

VL (- (2) 3) 4)

s5d st s W2

M 42 of 48

NMMS-MAT-20 [VIII




Direction : A transparent sheey With some pattern is given below as a question figure. The

L : |
sheet is folded on the dotteq lines from right to left. How would the pattern then look like?
Select the correct alternatjye,

Question figure Answer figures
( l ) ------ (23 ...... (35 ...... (4)
§5. Direction : In the following question the given figure is incomplete. Select the correct
alternative which can complete the figure.
Question figure Answer figures
(1) ) () (4)
Q.86 and 87

Direction : The question figure given below is held vertically on water surface. How will the
reflection of the given figure in water look like? Select the correct alternative.

86.  Question figure Answer figures
N
[ ] ® >
I (1) ) 3 4)
Space for Rough Work
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87.  usd wusld

) [se][3]RlR

[TTTTTATIIONTY (N 2
u. 88 ol 90 A
a1 12 wuddl v AR dsael A e wrell A el Bt @bl

36
34 35
33 32 3l
27 28 29 30
26 25 24 23 22
16 17 18 19 20 21

15 14 13 12 11 109

12345678

(4 1245

88. 1512, 1423, 1334, ?
(1) 1231 @) 1219 (3) 1218
89. 272528, 261725, 161417, ?
(1) 151421 2) 15214 (3) 332827 (4) 251824
90. 2513171426 : 2311201022 : : 27281817 : 7
(1) 30291920  (2) 217620 (3) 32312324  (4) 29302220
5t 51l s M2 o
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uestion figure
g : ¢ Answer figures

S

T (1)
Q'88t0 90

(2) 3) (4)

pirection : Observe the following pyramid of numbers and answer the questions that follow.
36
34 35
33 32 31
27 28 29 30
26 25 24 23 22
16 17 18 19 20 21
15 14 13 12 11 10 9
12 3 4 5 6 7 8

8. 1512, 1423, 1334, ?

(1) 1231 2) 1219 (3) 1218 (4) 1245
89. 272528, 261725, 161417, ? |

(1) 151421 2) 15214 (3) 332827 (4) 251824
9. 2513171426 : 2311201022 : : 27281817 : ?

(1) 30291920 (2) 217620 (3) 32312324 (4) 29302220
[ Space for Rough Work
—
\MMS-MAT-20 [V [M_|




5 5d s1l 514 W2

[NMMS-MAT-20

VIII

| 46 of 48




5d 51 s1 W2

NMMS-MAT-20

Vill

47 of 48




g5d s1l s1d W2

NMMS-MAT-20

VIl

48 of 48





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

